
> with(LinearAlgebra):

> v1 := <1|2|3|4>:
v2 := <5,4,3,1>:
v3 := Vector[row](5):
v4 := Vector(4, symbol = x):
v5 := Vector[row](5, i −> sin(Pi / i)):
v1, v2, v3, v4, v5;
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> M1 := <<1,2,3,4> | <3,4,5,6> | <5,6,7,8>>:
M2 := <<3|2|1>, <−4|3|2>, <5|3|−1>, <6|−2|4>>:
u1 := Vector(3, symbol = x): u2 := Vector(3, symbol = y):
u3 := Vector(3, symbol = z): u4 := Vector([4, −2, 1]):
M3 := <u1 | u2 | u3 | u4>:
M4 := Matrix(4, 3, symbol = a):
M1, M2, M3, M4;
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> v5[2]; M3[2, 3]; M4[3, 2]; v5[5] := evalf(v5[5]): v5;
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> Map(exp, v1), Map(x −> x^2, M3);
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> M1 + 2 * M4, v2.v4, M3.M2;

1 + 2 a1, 1 3 + 2 a1, 2 5 + 2 a1, 3

2 + 2 a2, 1 4 + 2 a2, 2 6 + 2 a2, 3

3 + 2 a3, 1 5 + 2 a3, 2 7 + 2 a3, 3

4 + 2 a4, 1 6 + 2 a4, 2 8 + 2 a4, 3

, 5 x1 + 4 x2 + 3 x3 + x4, 
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> eqsys := [2*x[1] − x[3] = 5, −x[1] + x[2] + x[3] = −2, 2*x[2]+x[3]=3];
vars := [x[1], x[2], x[3]]; 

eqsys := 2 x1 − x3 = 5, −x1 + x2 + x3 = −2, 2 x2 + x3 = 3[ ]

vars := x1, x2, x3[ ]

> A, b := GenerateMatrix(eqsys, vars):
A1 := GenerateMatrix(eqsys, vars, augmented=true ): 
A, b, A1, <A|b> − A1;
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> M5 := Transpose(M1);
GenerateEquations(M5, [x, y, z]); GenerateEquations(M5, [x, y, z, w], <10, 
−3,  2>);

M5 := 
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x + 2 y + 3 z = 4, 3 x + 4 y + 5 z = 6, 5 x + 6 y + 7 z = 8[ ]

x + 2 y + 3 z + 4 w = 10, 3 x + 4 y + 5 z + 6 w = −3, 5 x + 6 y + 7 z + 8 w = 2[ ]

> GaussianElimination(A1), GaussianElimination(A1, method=FractionFree), 
ReducedRowEchelonForm(A1);
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> A[1, 2] := h:
GaussianElimination(<A | b>);
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> LinearSolve(A, b);
LinearSolve(A1);
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Error, (in LinearSolve) inconsistent system

> A1[1, 2] := h:
LinearSolve(A, b), LinearSolve(A1);
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> ?LinearAlgebra

> 


